Answers

Scale of two: @

- Motorbike — seven and a half squares

- Bus — five squares

Scale of five:
« Car - four circles

. Van - one circle

Scale of ten:
. Car — two faces

. Motorbike — one and a half faces

Children can choose any pictogram as long as they provide a valid
explanation for their choice.

Either scale could be used but, as the numbers are large and %
are all multiples of five, Anna’s suggestion would be a more =2
efficient way of drawing the pictogram as less symbols would

need to be drawn. Half symbols could be used to represent the numbers
with five ones.

Each symbol represents S children.
N

Car - 15

Wallk — 20 or 2§
Sooter - 30

Bike — 10 or 20
Bus - Sorlo
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